Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria

Complete Spare Parts List of
Martin Roboscan 1020

200002-000000
212005-000000
222002-000000
226200-000000
226304-000000
226306-000000
226310-000000
245900-000000
245901-000000
246001-000000
246002-000000
247001-000000
247002-000000
263010-000000
265007-000000
265009-000000
265029-000000
270064-000000
300016-000000
300018-000000
300905-000000
305001-000000
309022-000000
309203-000000
316030-000000
316031-000000
319062-000000
319066-000000
319502-000000
319602-000000
336032-000000
336855-000000
337003-000000
337004-000000
337006-000000
339015-000000
339016-000000
339017-000000
340010-000000
346050-000000

8031 NMOS Microprocessor  12MHz
27C256 EPROM

7805 5V VOLTAGE STAB.

SN 75176 BP RS485 Transceiver

Dual D/A microstep controller, PBM 3960, DIP
Dual Microstep Driver, PBL 3771, DIP
Stepmotor driver, standard

10V Protection device

5V8 Protection device

1N 4148 Diode

1N 4007 Diode

Bridge rectifier 6A/100V

Bridge rectifier 25A/400V

60uF 250V Capacitor

470uF 16V NRSA Electrolytic capacitor, radial
2200uF 25V Electrolytic capacitor, radial
2200uF 50V Electrolytic capacitor, radial
100 Ohm 2 Watt Resistor

1x0.127# High flexible red wire

1x0.127# High flexible white wire

High Voltage Cable 1.0# D=7

Strap, black, 2.5x100mm

XLR cable 5m black 3P male-3P female
Wireset 6x0.3# 2 fem. plugs, black 820mm
XLR male 3-pin chassis

XLR female 3-pin chassis

Plug 6 pole PCB sil

Plug 6 pole il , extension

Plug female angle, wire, 6 pole, yellow
Plug female angle, wire, 6 pole, Natural
Transformer 2x(0-110-120) 11V/12A 25V/2A
Ballast 230V 50/60Hz for MSR 1200

Fan 115V 4", ball bearing

Fan 12V DC Brushless 3"

GUARD FOR FAN 4"

Stepmotor standard large

Stepmotor standard small (micro)
Stepmotor micro

Dip switch Piano type 6 bit DIL

Socket MSR 700 & 1200



347021-000000
350001-000000
350008-000000
350009-000000
350011-000000
351001-000000
351005-000000
360004-000000
360006-000000
360007-000000
360020-000000
360027-000000
360033-000000
360106-000000
360116-000000
360120-000000
360131-000000
361006-000000
361105-000000
363002-000000
363005-000000
363016-000000
363020-000000
373995-000000
375032-000000
375050-000000
375062-000000
375201-000000
375301-000000
375303-000000
375305-000000
376250-000000
376252-000000
376255-000000
376257-000000
392401-000000
392403-000000
392405-000000
392407-000000
392409-000000
392411-000000
392413-000000
392415-000000
392417-000000
392421-000000
392423-000000
392425-000000

Starter MSR700,MSR1200

FUSE 15AT

Fuse 6.3 AT

Fuse 10AT

FUSE 2 A SLOW BLOW

Fuse holder, half-part

Fuse holder chassis 6.3mm plugs, nut
M3x6mm Black

M4x10mm black

M4x16mm black

M3x3 Pinol. Allen key

M4x5 pinol allen key

M2x4 shiny

Adjusment screw M6

Handwheel Black D40 M8x20/10
Handwheel Black D60 M10x30/20
1/4 turn fastener, retainer

3.5mm x 6.3mm Selftap panh. black
5.5mm x 19mm w. washer Selftap bolt blac
3.2mm x 6 Rivet Black

M3 Star washer black

M3 Nut black

M4 Nut black

Spring for vibration damper device
Mirror reflector D=87 r=70

Lens Sph/plano D= 67

Lens Sph/Plano D=60 f=300

Iris 67mm

Prism Asph/plano D=47 , 3 facets
Prism Asph/plano D= 47 , 5 facets
Prism Asph/plano D=47 , 9 facets
Color wheel 1, M1020 w. adaptor
Color wheel 2, M1020 w. adaptor

Gobo wheel 1, for Roboscan M1020 with adaptor
Gobo wheel 2, for Roboscan M1020 with adaptor

*Dichr. light blue 101 37x38.8hex .1
*Dichr. flame red 304 37x38.8hex .1
*Dichr. fern green 205 37x38.8hex .1
*Dichr. yellow 603 37x38.8hex A
*Dichr. Light green 204 37x38.8hex .1
*Dichr. Pink 312 37x38.8hex Nl
*Dichr. primary green 206 37x38.8hex .1
*Dichr. Amber 604 37x38.8hex 1
*Dichr. Orange 306 37x38.8hex .1
*Dichr. primary Red 308 37x38.8hex .1
*Dichr. Mauve 507 37x38.8hex Nl
*Dichr. Lavender 508 37x38.8hex .1



392427-000000
392431-000000
392433-000000
761001-000000
815200-000000
845218-000000
845219-000000
MFM655-000000

*Dichr. dark Blue 107 37x38.8hex
*Dichr. Turgoise 202 37x38.8hex
*Dichr. C54 Blue 104 37x38.8hex

165" Thermostat Open

Damper device, pan/tilt M1020,

*PCB A-sec Micro asmb M1020 w eprom
*PCB B-sec asmb M1020 w eprom

Tilt bracket for PRO 218/1220, turned

MUMS836-000000 Gobo/Color-wheel RS PRO 1220, Ht-painted

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria




